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L 9ty5% 1 and RyIn 92 °0v *7’s reports about exclusion of YW1 from MrmMY Pao
a. Combination: 1 said that there was no N against P11 pav; the other — 0’53 pav
i. Challenge: both are taught in mmwn; P11 (®:n DOPY), DY (21:n DYPW) — thus these reports seem superfluous
ii. Defenses: px1is taught — even if we saw a a1 there
1.And: %1 — teaches that Xw» (prnV N7 717) is exact, excluding equivocal areas relative to mpn (on sides)
b. Challenge (to 27, who explained that case was a np 89v vnp found in the flesh): metal is an NRMYVA IR(HYHN::2IN) > DY RNON
i. Answer (?wx 77): the nTty is a 9”07 (=210 1p2aD)
1.Inference: if it were a "1, it would be &nv
2.Challenge: the needle can’t be asked (98w’ ny7 12 PR) — should be 11 in any location
3.Answer: per 1Ny "1 — if it was placed there by a person, it has status of Y8w5 ny7 11 W
II. Analysis of 3:2 nTy - if a needle is found in the animal, the meat is xnv
a.Challenge: how did the meat get nkmY5 1wN?
i. Can’t be: blood - DWTp DTisn’t PwWIN, per v. 1; can’t be RNavn 72 'pwnN (197)
ii. Perhaps: wTp n2'n — and doesn’t need 1wan via liquids due to its preciousness
1.Challenge: wp na'n is only Y019, not kLN
2.Rather: the animal was wet from outside (of n71y) before nv'nw (and that liquid is 1*wan)
III. Analysis of last clause — if found in w19, all is 11V (even flesh) — but why isn’t w18 then &non the flesh?
a. Answerl (7378 72 X8 27): thick feces which prevent needle from touching flesh
b. Answer2 (»wx 27): any feces is M70 NpwWn and removed from all nrMV
IV. Corrected version of teaching in front of nWW "1: PIV->r93>99IRDPPYn (maximum 4 steps removed from yIv)
a.Mnemonic: Rn»1 (mead makers put vessel, then food, then liquid)
V. nnoovare: v 2 93 2 R (becomes 1w)
a. Challenge (8375 87a87): why not imagine the »92 as filled — since p7v is '93 RnYN even in 720 IR
b. Answer: v. 2 indicates that only food is 8nv>n from vIN 3 1K; i.e. we don’t imagine “filled”
VI. Internal contradictions within yw11’ *7’s rulings: nnIm noa
a. N7DA7 7. MDA V. NS — our MWN and a related Xna
i. Per our mwp: we burn n"on w/nRnv (our Mmwn — ¥ 1 — turns out to be PYnw *7’s opinion re: ywin’ ")
ii. Am7772: we only burn "mon w/nmnv (Pov 1)
iii. Resolution: »oy " answers 1Rn "1 that even according to most lenient opinion (v 1->»w1 "), only 1M%n w/NRNY
b. 221 92 2Dy /7. MDA VS. NN
i. ooy 7 allows burning nnon w/nrno
ii. . ywip 1 allows leaving n9n open (but not causing it) to become xnv
iii. Resolution: two versions of YW '3 ("'oY '3 vs. ™)
C. YO ‘7. NN vs. NN - allowing nnIn to become Xnv (already introduced above)
i. From our mwp: implies that we allow n"%n to become Xnv
ii. mwm ywi 1 allows wine to be saved even if it means being &non the wine
ili. Resolution (as above): we allow it for n2191 70910 — but not for minimal 7091 of wood for 2™ fire for ynn nnawn
1.Proof: even yvin» 1 doesn’t allow “rescue” if nmn is oil (not a loss — can be used for lighting)
2.Challenge: wine could also be used for scenting house (after being gathered from floor)
a) Answer: scenting is even more valuable than drinking > need more expensive wine
b) Answer: this wine is new (not yet scented); can’t be aged b/c in the meantime it may be drunk
i. Consideration of n5pr. possibility raised that nbpn wwn is a dispute n”2/v”a
VIL N 72 >ov 1: dispute re: saving nnyn only if nman<100xp9n (not ymiTn)
a.Clarification: re: R™ ceding to Y11 "
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